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Math worksheet on 'Slope - Find Parallel - Graph to
Standard Form (Level 1)'. Part of a broader unit on
'Slopes and Parallels - Practice’
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2 What line equation in standard 'Q b

form would have a slope that is

PARALLEL to the slope of the
line on this graph?

—02z +1y=2-25bx+ 1y =2

c d
—10z +2y =415z 4+ 3y =6

4 What line equation in standard @ b
form would have a slope that is
PARALLEL to the slope of the —lz + 2y =36z + 3y = 4.5
line on this graph?

5 c d
0.5 +2y =305z +1y=15

o 2
6 What line equation in standard
form would have a slope that is
PARALLEL to the slope of the
g line on this graph?
a
3z + 1y = 1.33
b _
0.33z + 1y = 1.33
" f\. »X 0.5z + 3’y =4
ov 5

d0.67z + 2y = 2.67
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Name:

10z +2y =6 0.1z + 1y =3

c d
0.4z + 2y =60.6z + 3y =9

a b
3Bz +2y=43z + 1y =2

c d
Or+3y=6-1lx+3y=26

a b
2z +1ly=21r+2y =4

(o d
4r+2y=43x+3y=206

a b
-05z+3y=9-1lx+3y =9

c d
—6x + 2y =60.67z +2y =6
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